L I8 B =4

DEIEMAE / 2 EIRe

SEIELE - TAAEHIR
EH 22120.

=R

HEIEME .

R U:E

i EUMRETELARAN.

- PIMIW, REB _

. T4E4M 1.4305 E3RER

EEMF EREW

- W, B T A

-+ THW 14305, #R RIEAANBIME,

Fim BEZrm

© R (PAG), RE - HBE ATHRSRASBRCE | ES

« EUWE EAT2EREMND EEME
- EEREER  ERATIAEME

&[]
dg |
("]
_‘l'l'\
- : lock nut
— ¥ 22120.0M5 — .0120 (steel)
u_N . | d, | 22120.0515 — .0520 (stainless steel)
w d
- picture 1 picture 2
TEER
R WEHE " I 9
d d; ds ds Iy I, Iy 1y Fi F, min max.
-0,02 = min = =
-0,05
[mm] [N] [°C] [a]
BFIE -HE 1, ZHIEHR
5 M10 x 1 21 - 45,0 5 22 - 6,0 14 -30 80 17 22120.0045
6 M12 x 1,5 25 - 54,5 26 - 6,5 19 -30 80 27 22120.0046
8 M16 x 1,5 31 - 69,0 8 34 - 11,5 28 -30 80 63 22120.0048
10 M20x 1,5 31 - 80,0 10 41 - 23,0 54 -30 80 104 22120.0050
TFE A 2, ZHIHR
5 M10 x 1 - M5 - 5 22 6 6,0 14 - 250 12 22120.0065
6 M12x 1,5 - M6 - 6 26 10 6,5 19 - 250 19 22120.0066
8 M16 x 1,5 - M8 - 8 34 12 11,5 28 - 250 46 22120.0068
10 M20 x 1,5 - M8 - 10 43 12 23,0 54 - 250 87 22120.0070
BFE A 1, THWN
5 M10 x 1 21 - 45,0 22 - 6,0 14 -30 80 17 22120.0445
6 M12x1,5 25 - 54,5 6 26 - 6,5 19 -30 80 27 22120.0446
8 M16 x 1,5 31 - 69,0 34 - 11,5 28 -30 80 63 22120.0448
10 M20 x 1,5 31 - 80,0 10 41 - 23,0 54 -30 80 104 22120.0450
Vit PigE
ENHALDER 2

& 7E: 15.1.2024


http://halder.com/cn/22120.0045
http://halder.com/cn/22120.0046
http://halder.com/cn/22120.0048
http://halder.com/cn/22120.0050
http://halder.com/cn/22120.0065
http://halder.com/cn/22120.0066
http://halder.com/cn/22120.0068
http://halder.com/cn/22120.0070
http://halder.com/cn/22120.0445
http://halder.com/cn/22120.0446
http://halder.com/cn/22120.0448
http://halder.com/cn/22120.0450

L I8 B =4
D EIENAE / 5 &R

R+ HENE" & LI ms
d4 d, d; d, I4 I, I3 Iy F, F, min max.
-0,02 = min = =
-0,05
[mm] [N] [°C] [a]
TFIE -#HE 2, THWR
5 M10 x 1 - M5 - 5 22 6 6,0 14 - 250 12 22120.0465
6 M12x 1,5 - M6 - 6 26 10 6,5 19 - 250 19 22120.0466
8 M16 x 1,5 - M8 - 8 34 12 11,5 28 - 250 46 22120.0468
10 M20 x 1,5 - M8 - 10 43 12 23,0 54 - 250 87 22120.0470
Vit Ei9E
B2
R+ WRFRF i
d;
[mm] [mm] [g]
Lock nuts ISO 8675 (DIN 439), 5
M10 x 1 16 52 22120.0115
M12x1,5 18 7.5 22120.0116
M16x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
Lock nuts ISO 8675 (DIN 439), T 5540
M10 x 1 16 52 22120.0515
M12x1,5 18 7.5 22120.0516
M16x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
M10 x 1 - 9,3 22120.0955
M12x1,5 - 14,0 22120.0956
M16x 1,5 - 25,0 22120.0958
M20 x 1,5 - 27,0 22120.0960
Rz sl
/ S /\ /
\ ) <
N N M
{ . W )@ . . —
‘/// N \
L AN N L

L

For detailed compliance information please select the desired article number.

2w 2
EE HALDER & 7E: 15.1.2024


http://halder.com/cn/22120.0465
http://halder.com/cn/22120.0466
http://halder.com/cn/22120.0468
http://halder.com/cn/22120.0470
http://halder.com/cn/22120.0115
http://halder.com/cn/22120.0116
http://halder.com/cn/22120.0118
http://halder.com/cn/22120.0120
http://halder.com/cn/22120.0515
http://halder.com/cn/22120.0516
http://halder.com/cn/22120.0518
http://halder.com/cn/22120.0520
http://halder.com/cn/22120.0955
http://halder.com/cn/22120.0956
http://halder.com/cn/22120.0958
http://halder.com/cn/22120.0960

